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Four pairs of words A€ given, out of
which the words three p.‘llrs bear a
certain common elationship. Choose
the pair in whih the words are

differently related
(A) Daring : Timd
(8) Beautiful : pretty
(€) Clear : Vague
(0) Youth : Adult

Choose the odd one.
(A) ABpQ (B) npRS
(C) PQsT (D) EFi)

Complete the given series :
12,32, 72, 152, {....)
(A) 312
(C) 515

(B) 325
(D) 613

In the given letter series, some of the
letters are missing which are given in
that order as one of the alternatives
below it. Choose the correct
alternative.
___ babbba__a
(A) ababb
(C) bbaba

If the letters in PRABA are coded as
27695, and THILAK are coded as
368451, how can BHARATHI be
coded ?

(A) 37536689
(C) 96575362

Evaluate : V6084
(A) 75
(C) 78

(B) baaab
(D) babbb

(B) 57686535
(D) 96855368

(8) 77
(D) 68

if 7 782 is divided into three parts,
1
proporﬂO"a' 1o ;:%:%, find the first

part.
(A) 190 (B) 204
(c) 220 (D) None of these
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Ratio boyee! the ages of Akh“ and
Deepak is 4 3 after 6 yearg Akhil's
age will pe 26 years. Whay is
Deepakas prl‘senl age ?

(A) 14 (8) 15

€ 20 (D) 22

A does a work in 10 days and g does
the same work in 15 days. 1n 4,
many days they together will dq the
same work ?
(A) 5days

(B) 6 days
(C) 7 days

(D) 8 days

A person crosses a 600 metre long
street in 5 minutes. What is the
speed in km/hr ?
(A) 6.2 km/hr

B) 7.
(C) 8.2 km/hr o, ol

(D) 9.2 km/hr

The metallurgical process in which
depressant is used

(A) Roasting
(B) Froth floatation

(C) Electrolytic refining of A/
(D) Calcination

Resistance of which metal is least ?
(A) Gold (B) Silver

(C) Copper (D) Aluminium
Blood vessels which carry blood from
organ to heart

(A) Artery

(B) Vein :

(C) Artery and vein both

(D) :None of these

Which i not
photosynthesis ?
(A) Carbon dioxide (B) Oxygen
(C) Chlorophyll (D) Sunlight

necessary

A device Used for producing electric
curfent IS ca ed a

(A) "Gen_grator

(8) Motor

(C)-uAmmeter

(D)+ Galvanometer

3
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ENGLISH \WGUASE

! Jternatives, choose
i Gne i et expreises e
n\t‘-“miag of the gven word.
LUDICROUS
(\) Absurd iB] (:lear|
(€) Simple D) Disma

Choose the word opposite in
meaning to the given word.
CARNAL

(A) Sensuous iB] Spiritual
(€) Visionary D) Imaginary

Out of the four alternatives, choose
the one which best conveys the
meaning of the phrase.

?n old unmarried woman.

A‘! Virgin \B)' Bachelor
(C) Spinster D) Matron

blank with appropriate
choosing from the four
given  below the

Fill in the
Preposition
alternatives
sentence ;

The lives of great men inspire us

hopes of bright future.
{A) to B) with
(C) of D) for

Choose the correctly spelt word.
A) Menacious
B) Mendacous
Meancious
D) Mendacious
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31. Who has won the 2016 Scholastic
Asian Book Award (SABA) ?
(A) Golda Mowe
(B) Aditi Krishnakumar
(C) Varsha Seshan
(D) TinaCho

32. Jhulta Minar or Shaking Minarets of
Sidi Bashir Mosque are situated at
(A) Hyderabad (B) Meerut
(C) Aligarh (D) Ahmedabad

33. The title ‘Punjab Kesari’ was
conferred to
(A) Bhagat Singh
(B) Lala Lajpat Rai
(C) Chandra Shekhar Azad
(D) Sukhdev

34, Which city of Gujarat has the highest
population ?
(A) Vadodara (8) Rajkot
(C) Surat (D) Ahmedabad

35. How many members in Rajya Sabha
can be appointed by President of

India ?
(A) 10 (B) 12
(C) 15 (D) 20

36. Which number sequence of the
following represents ~ a  correct
sequence from small to big ?

Bungalow
Flat
Cottage
House
palace

6. Mansion
(A) 3, 2,1,4, 6,5
8) 3,2,4,1,>6
() 3,2,4165
{D, S' 6, 4, 1; 2: 3

C AW e
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32.

33.

34,

35.

36.

wrafe® Qﬁﬂﬂ?@ﬁ araré  (SABA)
2016 f¥ el rﬂ?zn g1

(A) e H

(8) aife FurgR

(C) aul A

(D) &l Al '
) adliR g @ ?'F‘ﬁﬂ P
aaferd &

(A) e (8) S

(c) areihe (D) FEHEwIS
o ey @ gmfy & é oAl

(A) rmafie @l

(B), Tl TTSTIARTY Pl
(C) THAW I P

(D) yEusdwl

ORI @1 @ W e’ qared ATl

qrAr e ?
(A). aSIER (B) IIdHIE
(C) IRa (D) 3BHCER

TRA & Iufd gwr vow o ¥ farg

e e ﬁ'gm I masag?
(A) 10 . (8] 12

(C) 15 (D) 20
ﬁqi?{f%mwﬂ?rﬁﬂmﬁmnmta’ré AT
&1 w1 we g e

1. anan

2. Yo

3. @iy

4, By

5. Ay

6. s

(A) 3.2,1,4,6,5
(B) 3,2, 4,1,5,6
(Cr 3.2,4,1, 6,5
() 5.6,4,1,7 4
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37. Arange  the given words in
alphabetical order and choose the
one that comes in the fourth
position. .

(A) Bishop (B) B!focal
(C) Bicycle (D) Bitter

38. Five boys took part in a race. Raj
finished before Mohit but behind

Gaurav. Ashish finished before
sanchit but behind Mohit. Who won

the race ?
(A) Raj (B) Gaurav
(C) Mohit (D) Ashish

39. Choose the correct alternative.
Accommodation : Rent : : Journey : ?
(A) Expense (B) Octroi
(C) Freight (D) Fare

40. Find out the wrong term in the given

series.

5,27, 61, 122, 213, 340, 509
(A) 27 (B) 61
(C) 122 (D) S0

41. A man buys oranges at T 5 3 dozen
and an equal number at ¥ 4 a dozen.
He sells them at T 5.50 a dozen and
makes 2 profit of ¥ 50. How many
oranges does he buy ?
(A) 30dozens (B) 40 dozens
(C) 50dozens (D) 60 dozens

42. The average of 17 numbers is 10.9
and if the average of first nine is 10.5
and that of the last nine is 11.4. The

middle number is

(A) 11.8 (B) 11.4
(C) 10.9 (D) 11.7

43. If 6™ = 46656, what is the value of
6™ A
(A) 7776 (B) 7782
(C) 1296 (D) 1290
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44. The vajye of [ )" * ° ) ]L a8, [goy® + o) | {8) 10000 Vs
W D i W 1000 ) gt
- st il S ) e 5 e
hours and g nours respectively, pjpq afir 6 He :R_ g ot
C can itin 12 hours. If 3| o 3 ) @ APl € | Ula ’
empty it n Arall the 12 9c ¥ }m ) 1{“(;‘7 ﬁ
three pipes s opened together, yrey v W A1 oIl ‘ _. 3
then the tank will be filled in _ & 3 e y B
9 9 9 -
A) 32 R 9 — 3
” %53 #) T (A) I (B) 317 —
7
(€ 37 D) 3 b .2 7.
5 ) 353 (©), 32 (0) 337
46.  Who invented the Air-plane ? il 46, AT o @ anfaenn fr fan ?
(A) Waterman ' (A) e
(B) Oscar (B) sl
(C) wilson © R
(D) Wright brothers (D)- ¥rge 7
47. Sound travels fastest through 47. AR I R aA 2
(A) Vacuum (B) Steel (A) Prafa (B EaH
g (O) Alr (€) v (D) arg
v 48. Which of the following constituents 48. Fr= 3 A 1A W 4gud gTd Freemg
N of pollutant exhaust is hazardous to A ¥ e @Ras & 2
“yY man ? i
(A) Carbon monoxide (A) @ ?\'ﬂ"}_‘m‘“ﬁﬁ
(B) Carbon dioxide (B) T SIZIRIGS
(C) Lead particles (C) ¥R & wo
(D) Carbon particles (D) @ @
49. Which of the following combination 49. o N TErpst o AreifiRea 3 %
of chromosomes is present in males ? 11 RIS g Sty 9
(A) XX (B) XXX (A) XX (
: B) XXX
(C) XY (D) XYX . {C) Xy (D)] )
50. What is the main component of 50, R qu e
<Al %
bones and teeth ? | ") T'I?Rlﬂt’iﬁ'ﬂll g2
(A) Calcium carbonate A _m’}"ﬁm tﬁlﬂ}a
(B) Calcium phosphate 1 ¢ LER T
(C) -‘Calcium sulphate o (C) mmq e
(D) /Calcium nitrate ; o(D) HfRApm Tz

7
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ceﬂsus-zou, women

- |
pccording 1O e um i which

" jeracy rate is ma

igtrict of Haryan? ? |

() Faridabad (B) Karna

(©) Ambala (D) Gurgaon
52, AdiBadriis associated with the Holy

River

(A) Yamuna (B) Saraswati

(c) Markanda (D) Ganga

53. Which campaign was started by
Prime Minister Shri Narendra Modi
from Panipat ?

(A) Yuva Jagran

(8) Janjatilagran

(C) Samajik Samrasta

(D) Beti Bachao, Beti Padhao

54. Which district of , Haryana is
abundant in Mineral Resources ?
(A) Gurgaon (8) Bhiwani
(C) Mahendragarh (D) Fatehabad

55. Which freedom fighter was the

Editor of the newspaper ‘Kohinoor’ ?
(A) Bal Mukund Gupta

(B) Chandrabhan Gupt

(C) Shriram Sharma

(D) Nekiram Sharma

56. Tangri river of Haryana originates
from ’

(A) Mewat Hills
(B) Yamunotri
(C) Dagshai Hills
(D) Morni Hills

57. The Animal Husbandry and Dairying
Department of Haryana has set a
target to Cover . cattles
under the Pashudhan Bima Yojén_a.
(A) one lakh (8) two lakh
(c) threelakh (D) fourlakh
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58. Who was the ruler of Rewari at the
time of Akbar ?
(A) Rao Tularam
(8) Rao Karnsingh
(C) Fulsingh
(D) Hemchandra

59. Which famous personality s
associated with Mokhra Village of
Rohtak ?

(A) Kalpana Chawla
(B) Baba Ramdev
(C) Sakshi Malik

(D) None of these

60. National Dairy Production Research
Institute is situated in which city ?
(A) Yamunanagar (B) Panipat
(C) Faridabad (D) Karnal

61. Sultanpur Bird Sanctuary is situated
in which district of Haryana ?

(A) Rohtak (B) Gurgaon
(C) Faridabad (D) Panchkula

62. In Haryana Government minister
Narbir Singh belongs to which
constituency ?

(A) Ambala Cantt.
(B) Sonipat

(C) Badshahpur
(D) None of these

63. How many districts were there in
Haryana at the time of its formation ?

(A) Seven (B) Ten
(C) Nine (D) Eight
64. Who was the last Hindu ruler of the
Delhi kingdom ?

(A) Harshvardhan (B) Hemchandra
(C) Rao Tularam (D) Mohan Singh

65. Bir Bara Ban Wildlife Animal
sanctuary is in the district of
(A) Hisar (B) Jind
(C) Sirsa (D) Palwal
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6. The woman

mountaineer, who

climbed the Mount gverest twice, is

(A) Santosh Yadav
(B) Sunita Sharma
(C) Malleshwarl

(D) MamtaKharab

67. Which one of the following is not
correctly matched with reference to

ministers and their portfolio ?

(A) Captain - Animal
Abhimanyu Husbandry and
Dairying
(8) Vipul Goyal - Industries and
Commerce
(C) Manish - Urban Local
Grover Bodies
(D) Banwarilal - Public Health
Engineering

68. Thanesar was the capital of which
king ?
(A) Harshvardhan
(B) Ashoka
(C) Samudragupta
(D) Chandragupta

69. Sportsperson Ram Mehar Singh is
associated with
(A) Kabaddi -

(B) Hockey
(C) Shot put

(D) Hand Ball

70. How many members are nominated

71.

72,

in Rajya Sabha from Haryana ?
(A) 2 (B) 4
{C) 5 (D) 7

Which of the following metals was
not known to the people of the
Indus Valley Civilisation ?

(A) Iron (B) Tin

(C) Copper (D) Lead

Where did Buddha deliver his first
sermon ?

(A) Lumbini (B) Sanchi

(C) Gaya (D) Sarnath
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69.

70.

71,

72,

nfadl qiiﬁr\m‘r‘ forer ﬂ’fm M¥VE Tl
v s w1

(A)- gy ared

(B) 77l

(Q el

(D) al &

ﬁfalﬁangﬁﬂ?fa“l’fi*ﬂﬂﬂﬁﬁﬂﬁ

Qe g A T8

(A) FeA - Wmm

ATy

(B) Rga e — e Cd AV

() whudR - e s e

(D) FER T — NG R
it

SRR ANE T e I @ A
w?

{A) e (8) 3P

(C) T (D) w=I«
R i drgx firg o W fow A 4
27

‘(A) TS (B) &M

(C) *ven ¥ ¥D) RBvsdra
wRamvn 3 wrow e A e weva e
g ér

(A) 2 (B8) 4

(C) 5 (D) 7

R i) & d@ml @) P Ry
HI ) ST T of) 9

(A)- it (B) fosi

i€ o (0) W

17

(A) afias)

(C)

9 7 3 veen e Wi w R

(B) i
«(D) Ry

Downloaded fromiwsw.cclchapter.com ¥ -



i ¢ between the
Which river  flow® _
. Satpura and the vindhya mo:;ntalr:s ?
(A) Narmada (8) Godavar
(C) Tapti (0) Yamuna

74. Where will yoy find the Bandipur
National Park ?

(A) Karnataka

(8) Tamil Nady

(C) Andhra Pradesh

(D) Kerala

. Who presides over 2 joint session of
Parliament ?

(A) The Speaker

. (B) The President
(C) The Prime Minister
(D) The Vice President

76. Arvind Panagariya is vice-chairman

of

(A) NITI Aayog

(8) Election Commission
(C) Finance Commission
(D) None of these

77.  When was the RBI established ?

(A) 1920 (B) 1935
(C) 1947 (D) 1949

78. During which period did India

observe ‘Plan Holiday' ?
(A) 1962-63 to 1965-66
(B) 1966-67 to 1968-69
(C) 1971-72 to 1975-76
(D) 1947-48 t0 1951-52

79. Till which year lion was the .national
animal of India ?

(A) 1947
(C) 1972

(B) 1952
(D) 1980

B0. What is the normal playing time of
the full version of the National
Anthem ?

(A) 1ginute
(C) 52 seconds

(B) 56 seconds
(D) 36 seconds

73. RIS afye feeardd udd & fra @ F
Wl el & 2
'(A;ﬂmgﬂ L (8) TTad
(€) aeh (D) A

74, mgq “fsﬂu I 3{]‘125" Wu E"G"{ &l
?
(A) Ttes
(8) afyarg
(C) rigww
(D) ¥
75. IR ¥ Ijyad A A B Bl
22

(A) ez
(8)- Treufi
(€) warr =
(D) Su-rgufdy
76.  3RRYE sl Syweay #
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(B) I 1A &%
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() &P 3ré e
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(C) 1971-72 1975.76
(D) 1947-48 W 195150
(LN E LY epe— W IR gy v
Yl9
(A) 1947 (B) 1982
‘(C) 1972 (D) 1980
80. ‘;me‘l“‘mf?mwmmn
7
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10) 62wy 5
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81.

B2.

83.

85.

84,

Which was the first Open University

in India ?

(A) Indira Gendhi National Open
University

(8) Jawaharlal Nehru University

(C) Karnataka University

(D) AndhraPradesh Open University

In which city is the Lake Palace
located ?

(A) Jaipur
(C) DehraDun

(B) Vadodara
(D) Udaipur

From whose rule was Goa liberated
in 19617

(A) British (B) Portuguese

(C) French (D) Dutch
Name the President who declared
internal emergency following the
Allahabad High Court's Judgement
regarding Indira Gandhi's election.
(A) V.V.Giri
(B) Zakir Hussain
(C) Fakhruddin Ali Ahmed
(D) R.Venkataraman
What is the correct chronological
order in which the following rulers
ruled in India ?
. Sher Shah Suri
Il. Akbar
ill. Allauddin Khilji
Iv. ltutmish
(A) IV, 0,10
(B) IV, I, 1,
i, m, v
(D) 1, V. L1
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91.

86. Which one of the following pairs js
correctly matched ? _
(A) Kota-Maharashtra

(B) Narora-Bihar

(C) Tarapur-Rajasthan

(D) Kalpakkam-Tamil Nadu

What causes earthquakes ?
(A) Tectonism

(B) Earth's rotation

(C) Earth's revolution

(D) Sea currents

If the difference in time between
two places is one hour, what is the
difference between their meridians ?
(A) 15° (8) 20°
(C) 30° (D) 60°

Where is the headquarters of the
International Monetary Fund ?

(A) New York (B) Washington
(C) Geneva (D) London

What is the tenure of a judge of the
International Court of Justice?

(A) 5 years (B) 6 years

(C) 8years (D) 9 years

Which vitamin is received by human
body through sun bathing ?

(A) Vitamin A (B) VitaminD
(C) Vitamin K (D) Vitamin By,

92. Which of the following is affected by

rickets in the human body ?
(A) Bones (B) Tissues
(C) Muscles (D) Blood

93, The terms ‘tiberty, Equality and

Fraternity’ came into limelight with

the '
(A) Bolshevik Revolution
(B) French Revolution
(C) Magna Carta
(D) Chines‘e,Revolutuon
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87.

88!

89.

90.

1.

92.

93,

Py i 3 @i 41 3 Wi £
(A) wher-neRIS

o(B) m.ﬂ‘gﬂ-’

(C) mmq-qlaﬂuﬁ |

(D) Faqqa-amais

gy fy @l 3 YA 2
1A) faadfraa _
(8) yedl ¥ ufRarol

(C) gzft & uRsm vl

(D) ?TFT\E\II‘EI'ITR}

A ST e 3 faereTT 3R 8 2
.(A, 15° (B) 20°
RIS 21 B F [EAEE FEl R
27

(A) =i (B) aif¥rres
(C)» Rrtan (D) wieA

Y & IRiEa g ¥ =t
& Bl e 8 2

(A) sad (B) 63

(C) s8ad (D) 9 ¥

YA wE ¥ Aregn A AFE TR @) B
Refiyr @) mf@ @l 8 2

(A) faeifi-A (8) fRefm-o
() Rafk (D) Refvs,

TR N e N Y wn gEd
(Rebz A e ghar & »

(A) it (B)- Wb
(C) ‘“QFJI (D) m

AT, W AR mger” W Rk
W y@HTE A 3y 9

(A) aredfE wiRy
~(8) widRl wify
(C) fren wned
(D) ol wify
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94.

95.

96.

Which day S observed as Human

Rights Day’

(A) 24" october
(B) 4™ July

(C) 8™ August
(D) 10™ pecember

Which metal is added to steel to
make it stainless steel ?

(A) Chromium (B8) Aluminium
(C) Carbon (D) Copper

Who has been sworn-in as the Chief
Justice of Patna High Court in July
2016 ?

(A) Awadhesh Singh

(B) Ajay Kumar Mittal

(C) Igbal Ahmed Ansari

(D) Subhro Kamal Mukherjee

97. In August 2016, who is appointed as

1ml

Prime Minister of Tunisia ?
(A) Beji Caid Essebsi

(B) Youssef Chahed

(C) Habib Essid

(D) MehdiJomaa

Virginia Thrasher won the first gold
medal of the Rio 2016 Olympic Games
in the women’s 10 metre air-rifle
event. She belongs to
(A) us (8) UK
(C) Russia (D) China
“Yaad Karo Kurbani” celebration was
launched by Prime Minister Narendra
Modi at
(A) Amritsar, Punjab
(8) Mumbai, Maharashtra
(C) Alirajpur, Madhya Pradesh
(D) Kurukshetra, Haryana
Who was the Indian flag bearer in Rio
Olympics-2016 ?
(A) Abhinav Bindra
(B) Saina Nehwal
(C) P-V.Sandhu
(D). None of these

9,

g6.

97.

98.

99.

100.
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